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Instructions :-
(i)  All questions are compulsory.
(i  Question Nos. 1 to 5 are objective type questions.
(iii) Internal options are given in Question. Nos. 6 to 26.
(iv) Draw neal and clean labelled diagram wherever required.
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Choose the correct npliﬂn "

()  For some integer m. every even integer is of the form-

(@ m

(b) m41
(c) 2m
(d) 2m+1

(iy I 2= El # -, then the system of equations gives-

*2 2 2
{a) a unique solution
(b) no solution
(c) infinitely many solutions
(d) None of these
(i) Roots of the quadratic equation 4x* — x + 1= 0 will be-
{a) Real
(b) Imaginary
(c) Both

(d) None of these

(iv) The 10 term of the arithmetic progression 7,10,13,16,.. ... will be -

(a) 34
(b) 37
(c) 40
(d) 205
(v) Value of tan 60°-
@ 3
® =
(© !
d ©
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TEUT ax2+ bX + € = 0 YA} Bl OB om0
T GEG—— UL L
LUSALERR RRMRCIE I SR 1 A —— Fo7 i
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the blanks -
Products of Zeros in polynomial ax2+ bx + ¢ =01i8.......oeeiciiiiiin
Point (-4, -7) HBS ON.........cviiiieiiiriir quadrant.

The two tangents drawn from an external point to the circle

SUDIENT. ... e it einees angles at the centre of the circle.
Circumference of the circle =.............ccocenevenes L LT YT PO
The longest CNOrd of a gircle is the, .......c..-overereseesssees of the circle.
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Frefefen § wa / yama faRag -

()  @EHE 2 _ax_gq @ YIS 1 AT 4 B

(i) 7 g & frdwia (0,0) 8§

(ili) AR syofy F WrdsiR, TNHSD, HONHS AT I & Fepay 2 |
(iv) 5 g1 o qrea fig @ @il ¢ @) o Yan s E
(v) Br[a & @ @ @ an 180° & 2

Write True/False in the following -

() 1and 4 are the zeros of polynomial x? — 3x — 4,

()  Co-ordinate of origin is (0. 0).

(i)  Common difference of any arithmetic progression will be positive,

negative or zero.
(iv) The tangents drawn from an external point to a circle are unequal.
(v} Sum of all the angles of a triangle is 180°.

T WIS G918
Match the columns-

W= (Column-A) w1 ¢’ (Column-B)

(i) sind + cos%0 (a) ._%

(i) sin {90 - 6) (b) 1

26 -1 cosd

(iii) sec (c) prev

(iv) tan30° (d) tan2e *

(v) cotb {e) cosw®

(h seces
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(5X1=5)

prarg @Y 3= 5x 4 2 - 0 1 fafyme el |

g @ srad B R fory

(i) oriwgl § WIS INARE qren P Fur Peerar 27

(V)

(v)

Wmﬁmmaﬂ@mﬁ{

E IHHA U B Uiwar g enfy?

Write the answer in one word/sentence of each-

(i)
(ii)
(i)

wod aurjuopieoqdur mmm,//:sdny
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o)

[T 8. 9 T4 25 &1 H.C.FUd L.C.MFa #fdm @)

Write the discriminant of the quadratic equation 3x2-5x + 2 = 0.
Write the formula of volume of cone.

The class which has maximum frequency of data is called?
Write down the formula of calculating arithmetic mean.

What is the probability of an impossible event?

wod aurjuopieoqdur mmms//:sdny

Find H.C.F and L.C.M of foliowing numbers 8, 9 and 25.

3ar/OR

m@%ﬂﬁmﬁamﬁ_@m@ﬁmﬁﬁl

3125

; 13 :
State whether the rational number 1125 will have terminating or non-

terminating decimal éxpansions.
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w7 W452—4S+T$WWWWWHWW$WWﬁ
HIW B WY i |

Find the zeros of the following polynomial and verify the rejationship between

the zeros and the coefficients: 4s2—4s + 1.

3rerar /OR
faelt agUT P(x) a%my:P(x)aﬂm#ﬁai@%ﬁﬁm?lP(x)a%Waﬂ
&1 T Y —

The graphs of y = P(x) are given in figure below for some polynomials P(x),
find the number of zeros of P(x) -

98 g A(-5,7)Td B(-1,3) & 49 & g0 sma afdrg
Find the distance between the points A (-5, 7) and B (-1, 3).
Jar/OR
9 BRfSt @ dwer g e fow W A (5,-1), B (3, 5) 7o G(5,2) ¥

Find the area of triangle whose vertices are A (-5, -1), B (3 5)andC (5, 2).

https://www.mpboardonline.com
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even number.

7o s qid B ES A
A dice is thrown. Find the probability of getting

ar/ OR
Wﬁﬁsmqﬂsm%mwﬂﬁﬁﬁwﬁwwﬁﬂﬁl
TEH T yifa@ar 2 & el 12 A ae 87
A bag contains 3 red balls and 5 black balls. A ball is drawn at random from
the bag. What is the probability that the drawn ball is red?
w10 afX P(E)=0.05 d P(E) & HH A & |
If P(E) = 0.05, what is the probability of ‘not' E?
3ar/ OR
wiaar R gdier 21 = &1 g9e) @ uifea € 5 = & sw=fles fr=i-fr=r &7
Savita and Hamida are friends. What is the probability that both will have

different birthdays?

y &1 g8 W9 ga @t e fae P2, -3) T Q (10, y) B @ ) @ 10 A9w

wod auruopieoqdur mmm,//:sdny
A

2l

Find the value of y for which the distance between the points P (2, -3) and
Q (10, y) is 10 units.

3erar/ OR
k7 7 g @ e fg A (7,-2), B (5, 1) T C (3, k) T &

Find the value of K for which the points A (7, -2), B (5, 1) and C (3, k) are

collinear.

i Page 8 of 16
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afe tan A < cor g g1, at firg AT 5 A+ B = 90°. (3)

Iftan A = cot B, then prove that A + B = 90°.
sar/OR
Rig &9 1 tan 48° tan 23° tan 42° tan 67° = 1.
Prove that tan 48° tan 23° tan 42° tan 67° = 1.
CF R AR S gu b a9 5 W A 0 w2 g A el e @) s 4
a9 & @ g9 @ o s & (3)

The length of a tangent from a point A of distance 5 cm from the centre of the

circle is 4 cm. Find the radius of the circle.

ayar/OR
Frg @01 & g @ area fag @ 9o ov @i 1 21 ol Y e e ¥
Prove that the length of two tangents drawn from an external point to a circle
are equal.
6 ¥4l fFu 91d Brorgue #1 da%e sa AT A I 0w g0° B w7 iRy
GG

3)

Find the area of sector of a circle with radius 6 cm, if angle of the sector is 60°.
Jear/OR

<1 e @ B gy gq 6 A &1 g9 B BT I vy Ry S5ES A
I S 8T B UM 5 gz 2
The radii of two circleg are 8 cm and 6 cm respectively. Find the radius of the

circle having area gq 4 to the sum of the areas of the two Circles.

1001 a.1n https://wi&wxfipbdardonline.com
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forg 1 5 V3 @ SR w2

is an irational number.

aerar/ OR
#@ﬂﬂﬁ?@zﬁﬁﬂH.c.F@meﬁmﬂ
Use Euclid's division aigorithm to find the H.C.F of 867 and 255.
P TR @ ggnm @we P(X) T x3-3x% + 5x-3
g(x) = x2- 2 WA 3 W e ¢d qawe s A

Prove that V3

S BAY |

o
(4)

, w2
Divide the polynomial P(x) = x% - 3x2 + 5x - 3 by the polynomial g(x) = X 2,
then find quotient and remainder by using division algorithm.

s/ OR
afe 7gUT x* - 6x°- 26x + 138x- 35 B @ TWE 2+V3a2-V3E &l

I (o n S I B
If two zeroes of the polynomial x* — 6x* — 26x° + 138x — 35 are 2 + Vv3 and

2 — ‘3. then find all the other zeroes. https://www.mpboardonline.com

i

STATEOT FE1T x + y = 51 2x— 3y = 4 BT uluE g | g& @ | a)
Solve the following pair of linear equations by the substitution method:
X+y=5 and 2x — 3y = 4

dua/OR
p & fr g @ [0 WA 4x + Py +8 =031 2x+ 2y + 2 = 0 &1 (& Hfg<ha

ceianil
For which values of P does the pair of equation given below has unique

solution:
4x+ Py+8=0 and 2x +2y +2=0

Page 10 of 16
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rd #fd |
An A.P consists of 50 terms of which its 3 term is 12 ang the last term is 106.

Find the 29" term
Jyar/OR
I¥ AP 3137 yg g &9 TGS 1191 92 38 R 1691 72 73 21

Find the 31% term of an A.P whose 11" term is 38 and the 16™ term is 73.

AR R 60WN B T W UF 9T I W@ &) gadq A SN B ywerdt w9 | A
@ % fdg | am fRar s 21 A @ A SN & gar 60° B\ T8 AHIR [
I & w1 S Af & I A dard sma dgy

A kite is flying at a height of 60 m above the ground. The string attached to the

kite is temporari[y tied to a pom! on the ground. The inclination of the string

with the ground is 60°, Find the length of the string assuming that there is no
slack in the string.

gerar /OR
7 frex I EH B frge @ 0@ B9 TR D R 7 gy @ 60° ¥ IR

T UIT BT I ey 45° &1 TR B SR I@ B
From the top of a 7 m high building. the angle of elevation of the top 0! 3 cable
tower is 60° and the angle of depression of its faot is 452 pgrermine the height

of the tower. 4

L. e
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arerar / OR
AB a3k CD @z O qonr A 21 A0 3R 7 94 a7y A g gal @ BT A
am ¥ (A amepfa) | afX LAOB =30° %, & BIAdA v gy erypy a7 ARC
AB and CD are respectively arcs of two concentric Circles of radii 21 cm and

7 cmwith cenre O (see figure). It ZAOB = 30°, then fing the area of the shaded

region.

£
o~
v
 \ao/ /
2
a '

@

722 B FHHMA ST Qi S @ frmd @ &1 AT 365 2|
Find two consecutive positive integers, sum of whose squares is 365.
gerar/ OR
2x*~7x +3 =0
Using Formula Method. find the roots of the following equation-

2X2-7x+3=0

{1 00] R-10 page 13 ol 16
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2y ot Rg &1 &
JABC v& FARATE W & Rrwi AC =BC 2 af AB? = 2AC

§.20

memﬁmaﬂq?l

2
AABC is an is0sCeles triangle with AG = BC. If AB? = 2AC?, then prove that

AABC is a right angled triangle.

s/ OR
BABC~ ADEF 3R §9% &rawa gy, 64 4012 wd 121 2 &1 4 4T EF = 15.4
a4, 2, al 3T BC &7 51 3ma 39|

Let AABC~ ADEF and their areas be respectively 64 cm? and 121 cm?. .

If EF =15.4 c¢m, then find BC.
W21 15 HITX ST W UF THER 6 S A F @ O R G d s 6 B
5 # o vl 4 qw fwr s & @ @
() |rs gRT o TE UTE BT AFEA § B |
iy afy e @ 5wl W @ wrE w10 9. ol v ¥ ain F a7 @)
HFH4 a1 &A% 4 gig s | (1 = 3.14)
A horse is tied to @ peg at one corner of a square shaped grass field of side
15 m by means of a5 m long rope, then-
(i) Area of that part of the field in which the horse can graze.

(11}

The increase in the grazing area if the rope were 10 m long instead of

s5m. (T =319)

Page 12 of 16 "
[100] r.10 | geteo o

https://www.mpboardonline.com

wod aurjuopieoqdur mmms//:sdny



wod aurjuopIeoqdur mmm//:sdny

il

https://www.mpboardonline.com

nA __
W2 g A —1%- SCA + tanA
nA _
Prove that %'— SecA +tana
3rerar / OR
cosecB — cot@)2 - 1-cose
AR ( V=522 @ g IR

Prove that the identity (cosecg — cotg)? = 1=08"
L+cost

924 7.6 WAL T WS DY Sy 39 5.8 § frfry e | @A B TR ot g |

Draw a line segment of length 7.6 cm and divide it in the ratio 5:8. Write steps

of construction.

d¥4ar /OR
6 I Foar &1 v g =ifar

VEL IR BT BN 3R e @ oqm o farfagu |

Draw a circle of radius 6 cm. From a point 10 cm away

I?-ﬂﬁm?m_egﬁmﬁqcﬁﬁgﬂqawwﬂ

from its centre,

construct the pair of tangents to the circle. Also write the steps of construction

925 HHIL 6 TE. 8 WX

V91 ST WA T T 6 T @ e sma #ifn

T Ta 10 9 FBouni arg O ® A SRy M @y Rraarex

Metallic spheres of radii 6 cm. 8 cm and 10 cm respectively are melted to §
orm

a single solid sphere. Find the radius of the resulting sphere

Aqqr/OR

%Eﬂ4.2#ﬂ.mﬁg@$wmﬁﬁﬁvmqﬁﬁm6%.mwam \
» »

¥ grar ordr &1 497 @ T s @

A metaliic sphere of radius 4.2 ¢cm g melted and recasted intq the sh

cylinder of radius & Cm. Find the height of the cylinder.

[100] R-10 Page 14 of 16
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426 mngsmmﬁﬁamﬁwﬁ)ﬁwﬁ’F

| are @@ W) | TR

- Te= T [ 1o
20-40 35
40-60 . 52
60-80 61
80-100 ‘ 38
100-120 29 |

L — —_ —_ ———-

IUGNON FT dgeldh FqASEA T B |

The following data gives the information on the observed life times (in hours)

of 225 electrical components-
" Lifetime (In hours) | Frequency |

020 10 |
20-40 35 |
‘ 40-60 52 |
| 60-80 61 |‘
80-100 8 |
[ 100-120 J 29 |I

i mponents.
Determine the modal lifetimes of the comp

. Page 15 of 16
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sz /OR

oAy 2| WD WIERE &R S
Prerfafa Ao 35 TTA ) Jrerear av (AT A) v #

HA!
») of 35 ciies. Find the mean
o

-]

The following 1abl€ gwes the teracy rate (in

literacy rate.

e - e &t |
[Tmﬁw % | 4585 5565 | 6575 ‘ 7585 | 8595 |
| - !

Literacy rate in %

|
[

B bl BRI B B e N

Number of cities

—

- A e
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